SECOND YEAR HIGHER SECONDARY EXAMINATION, MARCH - 2014J

Part— 1T Time : 2 Hours
COMPUTER APPLICATION Coolofftime : 15 Minutes
(COMMERCE)
Maximum : 60 Scores
/ General Instructions to Candidates : \
® There is a ‘Cooloff time’ of 15 minutes in addition to the writing time.
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Use the ‘Cool-off time’ to get familiar with questiens and to plan your answers.
Read questions carefully before answering.

Read the instructions carefully.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.

Give equations wherever necessary.

Electronic devices except non-programmable calculators are not allowed in the
Examination Hall.
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10.

11.

12.

13.

14,

15.

Answer any § questions from 1 to 6. Each carries 1 score. Gx1=5)
The inscrtion operator in C++ is
(<> << >>)

The subscript of last element in the array A[10] is

Which among the following is an emply tag ?
(<B>, <HI>, <HR>, <FONT>)

— 5.2 JavaScript function used to display a text in a webpage.

GRANT 15 a command.
(DDL, DML, DCL, None of these)

ERP stands for

Answer any 9 questions from 7 to §8. Each carries 2 scores. Ox2=18)
Given

int M[ ]={10,20,30,40} :

Write the output for the following C++ statements :

(a) cout<<M][0]; , M
(b)  cout<<M[1]+M[2]; (1)

(a) Expand DNS.
(b)  Write the port number of DNS.

Compare static and dynamic web pages.

Classify the following Scripting languages into client side and server side :
JavaScript, PHP, ASP, VBScript

Write any four values of type attribute of the <INPUT> Tag in HTML.

Classify the following values in JavaScript into suitable data types :
“Hello”, false, 125.0, “True” :

Compare shared hosting and dedicated hosting.
Writc short note on Responsive web design.

List any four advantages of DBMS.
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(- ol naderudniad eoajennd ,
(<, > <<, >>)

A[10] apm ERE0TIAL! MRAITUIM AhLOBIOG CVMITIElai] ~Bo ?

DAY OdhIs )T alkenonaiiod empty tag af@® 7

(<B>. <H1>, <HR>, <FONT>)
ool el 0] asaqy ndulaflamannd @I Mg LG
OUCIWanM).

GRANT aa), Sa003aL” @RS,
(DDL., DML, DCL, gpausaomjag))

FERP @95 al)dgnajnlo ag)o)m}d.

7 ) 18 1ne@)9D GasyEmSke agemelee 9 wmﬂm DATDVOAP) D).
2 qUaaod allm.. 9x2=18)

int M[ ]=110,20,30,40};
ey auoaam C++ cwm@acﬁ BD5al}g nf)PIm)d.
(1

(a) cout<<M[0];

(b) cout<<M[1]+M[2]; (1)
(a) DNS 0] andepaino ap¥imid.

(b) DNS ea} ¢a1ddg MaUB QEWIET,

s valel oML HOUMNICIR)0E TOMB)o B2 IBYd.
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16,

IX.

19.

24.

25.

26.

27.

What is Data Independence ? Which are the two levels of Data Irklependence.
itferentiate the data type CHAR and VARCHAR in SQL.

Write short note on SMS.

Answer any 9 questions from 19 to 29. Each carries 3 scores. (9 x3=127)
Explain any three jump statements in C4++.

(a)  Definc an array. Give one example. (0
(b} Write declaration statement for an array “NAME"” of size 25 to store the name of

a student. )
(c)  Imtialize an array “NAME” with value “Sachin”. M

Compare the function calling methods Call by value and Call by reference in C++,
Explain any three string functions in C++.

Write HTML code 1o display the following using list :

(1Y CACHE (2) RAM (3) ROM
(a) Differentiate between <TD> and <TH>. (1%4)
(b) List any four attributes of <TD> and <TH>, (1'4)

Write the built-im function used in JavaScript to do the following :

(a) To find the character at a particular position. (1)
(b) To check whether the data stored in a variable is a number or not. (1)
(c) To convert the string “Covid” to “COVID". ()

Explain any three aggregate functions in SQL.

Write SQL query for
(a) Create a table student with the following fields :

name char(20), rollno inleger, mark integer (1)
(b) Display name and rollno of all students (1)
(c) Display name and rollno of students having mark greater than 600 (1)
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16,

17.

21,

22.

23.

24,

25.

26.

27,

Data Independence agyxmoa oy 2 Data Independence 6X73 @68 @A nBOmE0 ?
SQL @ CHAR, VARCHAR agynfl 62 661503608 ®aniengs alymoaue af)m ?
SMS am @)0l3] 62101 &0l 91D},

19 aymnasd 29 A19E@9H 62193EMPIM agomBlels 9 ADFRTTKT DOTOAE) D).
3 M3ea948 Al (9x3=127)
C++ o) ago@sles 3 ami’ equaeaad)ad alkodle.ole)d.

(2) @O0 MBQYalaa). ) DEIANBEMO af)9)Midh:. )

(b) “NAME"apm aoecciasd 25  aelyoniad a0 SHGPS  Gald
TURAENMEIMSS BREO UAGC0403 CIRGOD ad9)e. (1)

() “NAME" apmn meeoaim “Sachin” ~om cad aveallsoxmaimos

SIUGODH ) FYM)S. (N

C++ @8l anoiatm @:aglerd methods @iy Call by value, Call by reference agyavilau
BOABDYo 621G .

C++ el agad®lele 3 NS anemiatsm)a:0d fluodladlon)s.

a6 earalsmmm eflqy ruadulofleamaimen HTML easa o).
(1) CACHE (2) RAM (3) ROM

(a) <TD>, <TH> gpa mv22]@8 coudaidle)d. (1%2)
(b)  <TD>, <TH> agyilai)ns aemaiele moei” apyskniygied ellqy’ aaigns. (14)

TP HDISIIONBIANTN WIAKITNMEA OalgymMeknes mIumIdlaig built-in
ADEBAHR afyF)OND:.

(a)  §0) (ICDYH TUNXNATDB SR 5D Dndjallslearrmaim, (1)
(b) &) caulomlficd cquod faEmlElaim caug MmId ERGaMI @ILICWO

A’ dhere)adiSlaenamakm. (1)
(c) “Covid" agyom muigled “COVID” ngiamoss] @agiomaily. (M)

SQL ol aGom®leije 3 GRENEHY aLMatM)dd Aledl alos)d.

SQL ajokor(B )9},
(a) name char(20), rollno integer, mark integer agyrfl adladon)ad pos student

Ay asmiud midenken s (1)
(b) g )51 HBINSW)o name, rollno agyomilcu Luarﬁuamlammmﬂrri (1)

(c) 6003 dysyosd mark o868 & Skeoms name, rollno agiias aisoddlafoemakn. (1)
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28. Explain any three benefits of ERP.
29.  Explain any three Industrial Property Rights.

Answer any 2 questions from 30 to 32. Each carries S scores.
30. (a)  Identify the four components of following for loop :
for(count=1; count<=n; count++)
{
sum=sum-+count;

}

cout<<“sum=" <<sum;
()  Rewrite the above code using while loop.

31. (a) Explain any three text formatting Tags in HTML.
(b) Write HTML code to display the following :
() H,0
(i) A®+2AB+B?

32. Consider the following relations :

Football
Name Age
Joseph 18
Anoop 17
Sachin 18

Cricket
Name Age
Fatima | 18
Anoop 17
Vivek 16

(a) What is the degree and cardinality of the relation Football ?
(b) Find the result of the following relational algebraic operations

(i) Football U Cricket
(ii) Football — Cricket
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28 FRP a00S ago@mesens 3 0smensad ag)e o,

M. agemERRe 3 AINOITLITE, CUIERC IKIEMUE NSl SN0 ).

30 A8 32 AUHW]EN 32108LMEIT AgO®BILL0 2 ARFRUTIN LTI
5 micaod afio. 2x5=10)

0. (a)

(b)

31. (a)
(b)

06 mavidleaym enaflaag NRISHANUD af)¥) ).

for{count=1; count<=n; count++)

i
1

sum=sum-+count;

H

cout<<“sum="" <<sum, 2)
2@l 61mS EIElLaIN eao0S while loop @ausauila) 230Gl af)$)oNS:. (3)

HTML @3 gemelelo 3 asaiqy Canod2ogles’ Sov)exd aflurflaelan)d:. 3
0o damiclammas pisdudlafleamalmowil HTML COL nf) ey !

(i) HYO (D
(i) A2+2AB+B? (1)

32, 9% OBISTIEKENTD CIEEIM)dhdB alGlnerTiond.

(a)
(b)
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Football
Name Age
Joseph 18 |
Anoop 17
Sachin 18
Cricket
Name Age |
Fatima 18
Anoop 17
| Vivek 16
Football agym dleetanal wluil andasimoeligl ag)mviial ag9)m)d. (D
@OO® BAVIBIHDIM dleeintem©d GRO3RENIE (IUACMUMSNRENS antls
af) 9N
(i) Football U Cricket (2)
(iiy Football - Cricket @)
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